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9I1-1/Part-1
( 3TfereRa® 3Teh- 30/Maximum Marks— 30 )

e : 3@ 9 H HA 15 T 2| TS gvH AT {1 yos ged & ford 02 ofe Tt €

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

Explain the antipodal situation of continents and oceans on the earth.

. Ydddked AR ged Sl T SR FaqEu

Differentiate between a Mountain Ridge and Mountain Range.

. MR H Ui & IR ] R Seoid hifsiE|

Mention the controlling factors of salinity in oceans.

. AgHEA & TESA I JUM Hifed|

Describe the composition of atmosphere.

. Hruferer et W fewult wifsE

Comment on relative humidity.

. A W WRIET U HEEIR % ThH-SR @ fauda feufd @t v S sw g 20 v ]

[Answer Limit : 20 Words]

[ SO 9 20 9SS |
[Answer Limit : 20 Words]

[ ST 9 20 9SS |
[Answer Limit : 20 Words]

[ ST 9 20 9SS |
[Answer Limit : 20 Words]

[ TR 9T 20 IS |
[Answer Limit : 20 Words]

. TER ® 31 9R &5 &1 AW T sel W §uR # st (-faeE) sHeen gafed 2

[ ST 9 20 9SS |

Name the four regions of the world where most (two-third) of the world’s population is concentrated.

. WU 9RA % TR TS H qq@ S 82

Of which state of India, is the Santhal a main tribe?

. 3Ty AN M R?

What is Mango Shower?

& dmid 99 #4122
What is Main Boundary Fault?

TSR & T@ qa &= & faawn i)

Give an account of the major oil fields of Gujarat.

T 3R SR F 82
What is Khadar and Bangar?

Iufefq &t feeen & SUR AT Yol w1 IR T HifeE |

Present a classification of Igneous Rocks according to mode of occurrence.

>

[Answer Limit : 20 Words]

[ ST 9T 20 IS |
[Answer Limit : 20 Words]

[ ST 9T 20 IS8 |
[Answer Limit : 20 Words]

[ ST | 20 I |
[Answer Limit : 20 Words]

[ ST | 20 I |
[Answer Limit : 20 Words]

[ ST 9T 20 IS |
[Answer Limit : 20 Words]

[ ST | 20 I |
[Answer Limit : 20 Words]
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IW@UE i Aiifersn Feafq T 8ol qo =R R & SFUSl U HiHedl <9 1 AW uet w1 g2 %
feemeq s [ ST 9 20 IS |

Give a geographical location and area of Uttarakhand and names of surrounding districts and bordering

countries in clockwise direction. [Answer Limit : 20 Words]

‘g’ 1 7?2 S e Al w1 A S [ 3T €M 20 IEE |

What are ‘Bugyals’? Give the names of some important Bugyals. [Answer Limit : 20 Words]

ITEUS & HeR AR qUE TEell 1 aui it | [ ST mT: 20 9T |

Describe the Bhabar and Tarai belts of Uttarakhand. [Answer Limit : 20 Words]
-2 /Part-2

( 3TfereRaw 3feh- 50/Maximum Marks— 50 )

qe: 3@ 9N H w10 T | TF YA A B T 99 % ford 05 @ik i )

Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

‘o1 A R feooht wifsEl [ TR Ei|T: 50 IS |
Comment on E1 Nino. [Answer Limit : 50 Words]
Harea a8t Sl THEA| [ SR | 50 IS |
Explain the convectional rain-fall. [Answer Limit : 50 Words]

HRT AMR FT e w1 w7 FH & ¥ v =R @ (Sgdei.) SF 9 s ST

2?2 [ ST | 50 9T |

What are the ways the World Trade Organization (WTO) adopts to reduce barriers to international trade?
[Answer Limit : 50 Words]

frafe @t iR eareEfas Bt w1 qor it [ ST WmT: 50 9T |
Compare the Subsistence Agriculture and the Commercial Agriculture. [Answer Limit : 50 Words]
gRd H g SEEn 9fg & Iq@ wRE F 7?2 [ ST | 50 I |
What are the chief factors of rapid population growth in India? [Answer Limit : 50 Words]
IR &% TR % o @ s YR hiH W €2 I e [ ST | 50 IS |

What are three main functional types of cities of India? Give examples. [Answer Limit : 50 Words]
qNd &1 AR AfG & w0 32T &7 [ SO |ET: 50 IS |
What are the aims of the trade policy of India? [Answer Limit : 50 Words]
arRa d ea-wifa 1 SudfsEl w1 9899 | Soor@ S| [ TR 9T 50 I |
Write in brief on the achievements of Green Revolution in India. [Answer Limit : 50 Words]
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et = & wq@ e @ SR [ ST | 50 IS |
Give salient geographical features of Nanda Devi Peak. [Answer Limit : 50 Words]
‘SHEUE HT T IAM YA T Wl T A wHfeii @g H1 AW 21 T KA kI e FHife|

[ ST G| 50 IS |
‘Tourism Industry is the direct and indirect victim of environmental degradation in Uttarakhand’. Explain

this statement. [Answer Limit : 50 Words]

-3 /Part-3

( 3TfereRaw 3Teh- 40/Maximum Marks— 40 )

Hie ;3@ 9 g1a 07 799 7)1 et fRE 05 gt 1 S | yE e & fed 08 i fawifa 2
Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries
08 marks.

qgHed & IR Hedl & A Sded 3R Gead A9 o qedl w1 9 wifsd |
[ ST | 125 9 |

Name the four layers of the atmosphere and describe the lowermost layer.  [Answer Limit : 125 Words]

T 2o 1 qRWITG HIE SR Rl & MR W IhT a0 F&d Hifsr|
[ ST | 125 I |

Describe river delta and present their classification on the basis of shape. [Answer Limit : 125 Words]|
3w Swfcadia =sham &1 T wiaw foero g&ga wifs@ [ 3T G 125 96T |
Present a brief description of tropical cyclone. [Answer Limit : 125 Words]
TLH & AUR W AR fafeeal w1 affeon wifse [ 3T i 125 91 |
Classify Indian soils on the basis of rocks. [Answer Limit : 125 Words]
IR & YL ARG & 9t &1 ol s [ TR || 125 9 |
Describe the development of marine transport of India. [Answer Limit : 125 Words]
IR | HIEC SRS & h1 a0 T Hifer| [ SO | 125 9T |
Give the distribution of Coal producing areas of India. [Answer Limit : 125 Words]|

‘srEvs ¥ FfY ® g B welar sifue o afid w gt 71 faee wifs

[ ST | 125 9IS |
‘Horticulture in Uttarakhand can earn more income, than agriculture.” Discuss.
[Answer Limit : 125 Words]
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( ITFIhaA 3Teh- 80/Maximum Marks— 80 )

e ;@ 9 A e 07 999 €1 ermefl fRet 05wl 1 SR 21w ueA % ford 16 3 fawifia )

Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries
16 marks.

YT & HRON 1 Sooid HITSH AR Yl w1 Sl Hifed| [ S¥X drET: 250 I |

Mention the causes of earthquakes and present a classification of earthquakes.
[Answer Limit : 250 Words]

T @ 9 N WHI 2?7 IS kA g ffdd feEl w1 avfieor wegd i
[ 3T dmm: 250 I |
What do you understand by plain? Give classification of plains formed through denudational process.
[Answer Limit : 250 Words]

FEH T B HH FH F AR FITA| A B HH G Fed 9% [HE YRR gAIfad g 82

[ ST i 250 I |
Describe how does the Carbon cycle work. How is the working of the Carbon Cycle affected by

deforestation? [Answer Limit : 250 Words]
‘qRd e 2w €, T wel @ e feR #) sren st [ ST W= 250 I |
‘India is a rich country inhabited by the poors.” Explain. [Answer Limit : 250 Words]|
‘MR & FUH AAGT U BN W &1’ 3@ HUA 1 qHe0 it | [ ST i 250 I |
‘Indian farmer gambles with the monsoon.’ Explain this statement. [Answer Limit : 250 Words]|
ARG | -5 UM & TR, fThE T IURA T Y9 ST [ ST T 250 I |

Throw light on the localization, growth and production of Cotton-Textile Industry in India.
[Answer Limit : 250 Words]

TRTOT HT YR <A g, STEUE feAe™ *i ged i oo § fawfaa #if o g w9 &

- STHfdh AL hi TIL FHifoA| [ ST T 250 I |
By giving the basis of your classification, divide Uttarakhand Himalaya in to macro physiographic regions
and illustrate geomorphic characterstics of each region. [Answer Limit : 250 Words]
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